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Question No. 1
3WXA:B=7:8B:C=8:113RC:D=11:14% @ A: D & A H 9l NT|
A)2 11 B)1: 2
C)3 : 1 D)3 : 2

fA:B=7:8,B:C=8:11and C:D=11: 14, find the value of A : D.

A)2: 1 B)1:2
C)3: 1 D)3: 2
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 1) (objection.aspx?qwr=3610169687&qwer=1)

Question No. 2
@ SIEelr # et @ 9§ AR AF Re sw we @ 3R & A AR 3ehr gt o= fr oy
sfeat § e e Rorar (@ed o/ 38 AR & €)1 & o Riarg 3o § g3 S S 3R S g Ay
YT WA, T A FRAT T AN T M aga ¢, Goliad d RaRa g sk soF ¥ @@
et 3R 30T §| g & Flerar FYT TE §?
A)AY, Folrer T a1 BT, 24T & e ¢
C)3tset, f&Aar &7 97 B D)f&rdr, sfadar 1 e gl

Read the following information carefully and answer the question given below. Manoj and his wife Ramya
have two daughters named Smita (youngest daughter) and Devi. Devi is married to Ajay who is the son of
Jagan and his wife Madhu. Rakshitha is the daughter of Ajay. Kavitha (Elder than Ajay) who is Ajay's sister is
married to Sunil and has two sons Anuj and Arun. Which of the following is "True'?

A)Madhu is Sunil's mother-in-law B)Jagan is Devi's maternal uncle
C)Anuj is the son of Smita D)Rakshitha is the cousin of Kavitha
Answer Key: A Your Response : Not Answered Raise Objection(Question No. 2) (objection.aspx?qwr=3610169687&qwer=2)

Question No. 3
g 12 Alegry 9 W AT 4 Aegad & Wy {7 & S M FATH &, A A1 qicRrd sy F=ar g2
A)25% B)50%
C)20% D)30%



If on selling 12 notebooks a seller makes a profit equal to the selling price of 4 notebooks, what is his percent

profit?

A)25% B)50%

C)20% D)30%

Answer Key : B Your Response : A (Wrong) Raise Objection(Question No. 3) (objection.aspx?qwr=3610169687&qwer=3)

Question No. 4

T AT 600 #r &l TSH ' 5 AFs 7 IR T §1 3TH afa Feveer F = &2
A)3.6 Tre/eer B)8.4 faafi/eer
C)7.2 ferafeer D)10 frefi/eer

A person crosses a 600 m long street in 5 minutes. What is his speed in km/hr?

A)3.6 km/hr B)8.4 km/hr
C)7.2 km/hr D)10 km/hr
Answer Key : C Your Response : A (Wrong) Raise Objection(Question No. 4) (objection.aspx?qwr=3610169687&qwer=4)

Question No. 5
I g THa are SAaRt FF 'SWIMMERS' &gl SIaT §, e} aeier arel 3 FLYERS &gl Siam §, deir &
TgoT ardr Fr 'SNAKES' gl Sirar § 31X 35+ aralf @ 'HUNTERS' gl ST §, af 'LIZARD' &RIT gelleam?
A)SWIMMERS B)HUNTERS
C)FLYERS D)SNAKES

If the animals which can walk are called 'SWIMMERS', those who crawl are called 'FLYERS', those living in
water are called 'SNAKES' and those who fly in the sky are called 'HUNTERS', then what will 'LIZARD' be
called?

A)SWIMMERS B)HUNTERS
C)FLYERS D)SNAKES
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 5) (objection.aspx?qwr=3610169687&qwer=5)

Question No. 6

39 god H IR F1a ST Sraewr dawer 314 F0 § (1 = 3.14)|
A)6.2 TFY B)62.8 T
C)12.8 &=T D)32.4 T

Find the circumference of a circle whose area is 314 cm? (11 = 3.14).

A)6.2 cm B)62.8 cm
C)12.8 cm D)32.4 cm
Answer Key: B Your Response : Not Answered Raise Objection(Question No. 6) (objection.aspx?qwr=3610169687&qwer=6)

Question No. 7



fArfaf@d &% & Plerdlr Nore3il/FHrAHAl F 3T AT FT A AR 7 FARRN QAT aem g2
A) FarfRATeT B)Tarf@a 3iIR MGNREGA &=t
C)MGNREGA D)¥T &1 3fEsR (RTI)

Which of the following schemes/programmes is/are mainly aimed to bring inclusive growth in India?

A)Swabhimaan B)Swabhimaan and MGNREGA
C)MGNREGA D)Right to Information (RTI)
Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 7) (objection.aspx?qwr=3610169687&qwer=7)

Question No. 8

Flerelr FEar A RE v deY F Fad FgaW alF F QU AEM? 24 1 144 218 1 ?
A)74 B)78
C)84 D)81

Which number will best complete the relationship given below? 24 : 144 :: 18 : ?

A)74 B)78
C)84 D)81
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 8) (objection.aspx?qwr=3610169687&qwer=8)

Question No. 9
e 7 @ Flewh aw] FFad T 7 afder g2
A)gs FfAge B)SeIR 3R Fem
C)ared D)?ﬁr

Which item out of the following is contained in the concurrent list?

A)Trade Union B)Markets and fairs
C)Tolls D)Agriculture
Answer Key : A Your Response : D (Wrong) Raise Objection(Question No. 9) (objection.aspx?qwr=3610169687&qwer=9)

Question No. 10

522, 1476 31X 1824 Fr yoieh: eI e arel W@ 3 F&AT AT AT
A)4 B)8
C)6 D)2

Find the largest number which exactly divides 522, 1476 and 1824.

A)4 B)8
C)6 D)2
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 10) (objection.aspx?qwr=3610169687&qwer=10)

Question No. 11



foreT & Har =T B2
AT B)uT3s

N

C)3Tek D)ATR

What is the currency used in Britain?

A)Euro B)Pound
C)Dollar D)Mark
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 11) (objection.aspx?qwr=3610169687&qwer=11)

Question No. 12
T T A 3N T A gU, TE AR A Fgl, 9w AY AT F Fehelld 9 B I F AR Bl R A
g 3T ufdd dshr @ fFe YR |6l §?

AR/ B) Rrar

C)HTS D)erl/=Teir

Pointing out a photograph, a girl said, "He is the son-in-law of the grandmother of my mother's only son." How
is the man in photograph related to the girl?

A)Brother-in-law B)Father
C)Brother D)Grandmother
Answer Key: B Your Response : A (Wrong) Raise Objection(Question No. 12) (objection.aspx?qwr=3610169687&qwer=12)

Question No. 13
3R AR 3F & FRla IR WdisEt § & & & 39% ot & 99w d6y § ot Fosw A3 A §
PROBLEM : 2948375 3R s6faT & @y aid &1 efaf@d & & <l wog & weifta =7ef 82
A)BORE : 8497 B)OMEP : 4572
C)LBOR : 3849 D)MOEP : 5972

Three of the following four combination of alphabets and numerals have the same relationship between their
elements as in the case of the pair PROBLEM : 2948375 and hence form a group. Which of the following
does NOT belong to the group?

A)BORE : 8497 B)OMEP : 4572
C)LBOR : 3849 D)MOEP : 5972
Answer Key: D  Your Response : Not Answered Raise Objection(Question No. 13) (objection.aspx?qwr=3610169687&qwer=13)

Question No. 14
AR few 3R efaas TvueT fFe eeY & RRua &2
A)3TgHCTEG B)aS fewel
C)H=s D)gor



In which city is the Film and Television Institute of India located?

A)Ahmedabad B)New Delhi
C)Mumbai D)Pune
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 14) (objection.aspx?qwr=3610169687&qwer=14)

Question No. 15

5.15 ¥ T Uo7 Jua, Ue SAfad @ 3HAN ARG F 1/16 AT i gifer g 1 ¥ 7 o {e A R
A)%18 B)%21
C)¥16 D)%20

By selling a pen for Rs.15, a man loses one-sixteenth of what it cost him. Find the cost price of the pen.

A)Rs.18 B)Rs.21
C)Rs.16 D)Rs.20
Answer Key: C  Your Response : Not Answered Raise Objection(Question No. 15) (objection.aspx?qwr=3610169687&qwer=15)

Question No. 16

Bt 1/3 3R 1/9 & #ew Faar Rest ghel?
A)2 B)3t=id
C)3 D)6

How many fractions are there between the fractions 1/3 and 1/9?

A)2 B)Infinite
C)3 D)6
Answer Key: B Your Response : A (Wrong) Raise Objection(Question No. 16) (objection.aspx?qwr=3610169687&qwer=16)

Question No. 17



TF B FI F99 UTF IR A FiF @ T BT FF AT @ 7

THAT HIATI
. :o @ ak A
1n @ @ @ 6)
¥ D E
@ O 6
A, .47 269358 B. 1234567853
C. h,38579246 D. Ea# & &% agr

Group the given figures into three classes using each figure only

once.
L e
o] [ (Bl AN
10 @ B @ 6G)
A/ [ ]
Y @ WE
@ @O 6 )
A 47,269 3,58 B. 123456 7389
C. 1,3,8, 5, 7,9 2,4, 6 D. [MNoneofthese
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 17) (objection.aspx?qwr=3610169687&qwer=17)

Question No. 18



9 yfFraadt & ¥ 8 ARl F HUe-3 ST W %.30 TH fvv| A =afFa & o @ & e @ ¥ 520
3foF @ el 3 el ganr @ A 75 For AR FaAw|

A)¥.292.50 B)%.290.50

C)%¥.260.50 D)%.400.50

Out of 9 persons, 8 persons spent Rs.30 each for their meals. The nineth person spent Rs.20 more than the
average expenditure of all the nine. Find the total money spent by all of them.

A)Rs.292.50 B)Rs.290.50
C)Rs.260.50 D)Rs.400.50
Answer Key: A Your Response : Not Answered Raise Objection(Question No. 18) (objection.aspx?qwr=3610169687&qwer=18)

Question No. 19
2018 TsgsHse Walt H R @RT S 7T geaht A Fol FEAT et §2
A)62 B)66
C)68 D)58

What is the total number of medals won by India in the 2018 Commonwealth Games?

A)62 B)66
C)68 D)58
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 19) (objection.aspx?qwr=3610169687&qwer=19)

Question No. 20

I faFeT FT 99T FE ST A T FA BT AGE TG ATETT T FAAT G AR
7997 % XY % AT 7ET ST 3l

X

®[F v




Choose the alternative that best resembles the mirror image of the
given figure when the mirror is held along XY.

X

®[F v

s | ol o | [
C. é)—L D. @ﬁ

Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 20) (objection.aspx?qwr=3610169687&qwer=20)

Question No. 21
gfe Py T&AT FT 5%, 22.50 &, Y 98 & AT HLI
A)450 B)460
C)334 D)390

If 5% of a number is 22.50, find the number.

A)450 B)460
C)334 D)390
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 21) (objection.aspx?qwr=3610169687&qwer=21)

Question No. 22
AT & ¥ PlFar AET FRFr 30F F Al W & 7 F FF w=ar &2
A)TTSerETH B)ATscIcTalsH
C)arsarars D)ATSeIhITSaT

Which of the following cell organelles acts as a power house of the cell?

A)Ribosome B)Cytoplasm
C)Lysosome D)Mitochondria
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 22) (objection.aspx?qwr=3610169687&qwer=22)

Question No. 23



How many triangles are there in the given figure?

A |4 B. |6
C 8 D. |10
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 23) (objection.aspx?qwr=3610169687&qwer=23)

Question No. 24



Simplify: [5%{1%-1[21-2]}1

2l 2 46 _|
A. |66 B. |69
C 96 D. |126
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 24) (objection.aspx?qwr=3610169687&qwer=24)

Question No. 25
14 ab?c®, 25 ab’c? 3R 60 a%b?*c &1 HCF 7 Hifaw]



A)ab?c B)ab?*c?
C)2 a%b?c® D)5a%bc?®

Determine the HCF of 14 ab?c®, 25 ab®c? and 60 a?b?c.

A)ab%*c B)ab?c?
C)2 a%b*c® D)5abc?
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 25) (objection.aspx?qwr=3610169687&qwer=25)

Question No. 26
U U 8 ast F ge v gIeEl @ Sl ¥ e af F 7§ gg A e I g Sreel?
A)12 a¥ B)10 a¥
C)24 a¥ D)16 a¥

A certain sum of money becomes two times of itself in 8 years. In how many years will it become three times
of itself?

A)12 years B)10 years
C)24 years D)16 years
Answer Key : D Your Response : C (Wrong) Raise Objection(Question No. 26) (objection.aspx?qwr=3610169687&qwer=26)

Question No. 27
39 W A, OF YT R mar ¥ Owd 9 A& fwd R o §1 3w e @ oot S afde w7 & e
39gFd ¢ FYer Uw Ry fede AT A, vF AW @ SAIT AT o & 250 Al FA § 140 I dearsit
EaRT ST AT A fasnd: 1) &7 F 80% dearsr anfAS §1 1) YT TedarsT Fearr Al
A)dad sy (| aRome g B)l 3R Il gt aRome €|
C)a ar | 3R 7 & Il aRome &1 D)dhae fasswy | gRomer g

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) that best fit(s)
logically. Statement: In a one-day cricket match, the total runs made by a team were 250. Out of these, 140
runs were made by bowlers. Conclusions: |. 80% of the team consists of bowlers. Il. The opening batsmen
were bowlers.

A)Only conclusion Il follows B)Both conclusions | and Il follow
C)Neither conclusion | nor Il follows D)Only conclusion | follows
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 27) (objection.aspx?qwr=3610169687&qwer=27)

Question No. 28
3RO oxT & AT FEIAA PeT 2
A)STH ¥ HI5 Ahed T B)UHT @3
C)AeH Jehr D)sferal ef



Who is the present Chief Minister of Arunachal Pradesh?

A)None of the options B)Pema Khandu
C)Nabam Tuki D)Kalikho Pul
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 28) (objection.aspx?qwr=3610169687&qwer=28)

Question No. 29
fe 148.009 + 341.981 - 146.305 = 123.6 + a §, a 'a' F A AT H<|
A)120.85 B)120.085
C)230.085 D)220.085

If 148.009 + 341.981 - 146.305 = 123.6 + a, find the value of 'a'.

A)120.85 B)120.085
C)230.085 D)220.085
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 29) (objection.aspx?qwr=3610169687&qwer=29)

Question No. 30

oS I Req Aer gfad 77 & HARw S g
A)gRamom B)#gRISE
)R B)RIGECIES

Surajkund International Crafts Mela is celebrated every year in the state of-

A)Haryana B)Maharashtra
C)Gujarat D)Tamil Nadu
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 30) (objection.aspx?qwr=3610169687&qwer=30)

Question No. 31

FIFA 2018 &gl 3mafaa frar amr ar?

INCUEEH B)¥deT

C)TaTet D)&H

Where was FIFA 2018 held?

A)Brazil B)Spain

C)Japan D)Russia

Answer Key:D  Your Response : C (Wrong) Raise Objection(Question No. 31) (objection.aspx?qwr=3610169687&qwer=31)

Question No. 32
R 3ifg i I MEEr 6400 §1 I 37 AT F7 30% WER §, o FRERT Hr F&Ar F 9ar Jend|
A)4920 B)4480
C)3720 D)3280



The adult population of a village is 6400. If 30% of the population are literate, then find the number of

illiterates.

A)4920 B)4480

C)3720 D)3280

Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 32) (objection.aspx?qwr=3610169687&qwer=32)

Question No. 33
Frfaf@d Sl # aaueiEE 9§ AR S Re vy &1 ser &1 3ror, e, s, |9, B, due
IR Fff oF T & AT oF §1 F FAm P, Q 3R R ¥ ggd § @f R ofr wEm A It ¥ @ W §
ST ¥ Y AS PN SAlel, ofel, &, 9, Frell, e 3N T & & v 1 g §, T FA g OIS 81 gl
a1, FET Q F Fad ue & AT Ygdr g, A el T gdg {1 31F01, FET R & ggar § AR ar ar 3§ sher
wHg § a1 & &l e, Fam R F ¢ ggar § 3R der 1 whig e €)1 wdior 3R e v & T A gea €
AfheT 3FOT & AT AGT &1 FAT A VAT PS A&7 § S F&W P 7 ggar g 31K abe qwg F=ar & o ser
THE § 98 FET Q ¥ Toar g1 Wl P o G W §1 T B SAar v A 9¥6g g1 e oAt F & Fhawr
AR &7 ¥ a7 &2
A)FRET R—HEU—ATell B)&aT P—fasig—arelr
C)eTr Q—ahrefi—irerr D)ziH & HIS AT

Read the following information carefully and answer the question given below. Arun, Bala, Praveen, Sonu,
Vijay, Deepak and Karthi are seven students of a school. They study in class P, Q and R with at least two in
anyone class. Each of them has different choice of colour from blue, red, green, yellow, black, white and
brown, not necessarily in the same order. Bala studies in class Q with only Deepak who likes red colour. Arun
studies in class R and does not like either blue or green. Vijay does not study in class R and likes yellow
colour. Praveen and Sonu study in the same class but not with Arun. None of those who study in class P likes
white. The one who likes black studies in class Q. Sonu likes brown colour. Praveen does not like blue colour.
Which of the following combinations is definitely CORRECT?

A)Class R—Arun—blue B)Class P—Vijay—black
C)Class Q—Karthi—blue D)None of the options
Answer Key : D Your Response : Not Answered Raise Objection(Question No. 33) (objection.aspx?qwr=3610169687&qwer=33)

Question No. 34



fom T et 7 ¥ 3 AT A A ST A ST e T e v e (2)

ONONO
®006
ONORO

Choose the number from the given options that would best replace the
question mark (?) in the figure below.

ONONO
ONONO,
ONONO,

A 6 8
C 10 D. |12
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 34) (objection.aspx?qwr=3610169687&qwer=34)

Question No. 35



(33)%_(15)% FT AT AT A7)

Find the value of (32 )3 -(16 )%

A |2 B. |4
C 8 D. |16
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 35) (objection.aspx?qwr=3610169687&qwer=35)

Question No. 36

AT ¥ et 7 'GMT' &1 Far 3 &2



AsaH T ®I5 Ahea A8 B)#fafaw #Aie ersd
C)aeRer ARSI erza D)Tolleel #HieT rsA

What does 'GMT' mean, in the context of 'time'?

A)None of the options B)Greenwich Mean Time
C)General Meridian Time D)Global Mean Time
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 36) (objection.aspx?qwr=3610169687&qwer=36)

Question No. 37

HRT ¥ Ugel aBENd Bl A?
A)ells hfsiar B)faferg# sfcs
C)aC Fellsd D)dE sergidT

Who was the first Viceroy of India?

A)Lord Canning B)William Bentinck
C)Robert Clive D)Lord Dalhousie
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 37) (objection.aspx?qwr=3610169687&qwer=37)

Question No. 38

AR & AU & AT Feled! H ¥ faw T A
A)TTSeS fhersH B)3MmRels
C)acIelza D)&H

Fundamental Duties of Indian Constitution were taken from-

A)United Kingdom B)Ireland
C)Netherlands D)Russia
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 38) (objection.aspx?qwr=3610169687&qwer=38)

Question No. 39

EIREE F7 R A ¥ d6ftaT 87
A)ferere B)ziH & HIS Ahed ool
C)arEde dfel D)glehr

With which of the following sports is the 'Rangaswamy Cup' associated?

A)Cricket B)None of the options
C)Basketball D)Hockey
Answer Key : D Your Response : C (Wrong) Raise Objection(Question No. 39) (objection.aspx?qwr=3610169687&qwer=39)

Question No. 40

sj@er @ g FY1 11, 13, 17, 19, 23, 29, 31, 37, 41, (.)



A)51 B)48
C)54 D)43

Complete the series. 11, 13, 17, 19, 23, 29, 31, 37, 41, (...)

A)51 B)48
C)54 D)43
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 40) (objection.aspx?qwr=3610169687&qwer=40)

Question No. 41

T NYOT Alg T AS a¥ & A # A A FAwor F ufey 79 Fr RAfeed wA F AT AR Frar
gl

A)3TFgsR B)adsR

C)39rEd D)f&dsy

National Nutrition Month is observed in the month of __ every year to mark the country’s fight against
malnutrition.

A)October B)November

C)August D)September

Answer Key : D  Your Response : A (Wrong) Raise Objection(Question No. 41) (objection.aspx?qwr=3610169687&qwer=41)

Question No. 42

qoe _ Fr wed 5 9 g
A)FYST Yol B)3RTaell s@elr
C)ererfandr ugrfzat D)rsicT wgrisat

Dhupgarh is the highest peak of-

A)Satpura Range B)Aravalli Range
C)Nilgiris Hills D)Garhjat Hills
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 42) (objection.aspx?qwr=3610169687&qwer=42)

Question No. 43
& A o 9 "et # 61 fheldliey A qft a7 1l 387 $© gl 4 fralheveer f AR & T U
IR Fo gfr 9 Freefieveer fr WaR § Ffra T it #1198 gl AT FY S 36 T F g A B
A)15 TRt B)16 foraft
C)14 el D)17 faraft

A farmer travelled a distance of 61 km in 9 hours. He travelled partly by foot at 4 km/hr and partly on bicycle
at 9 km/hr. Find the distance travelled by him on foot.
A)15 km B)16 km



C)14 km D)17 km
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 43) (objection.aspx?qwr=3610169687&qwer=43)

Question No. 44
iy FE&T A RU T HEY F GO @A A F QU AREN? 9: 80 1 7 ?
A)50 B)48
C)82 D)78

Which number will best complete the relationship given below? 9:80::7:?

A)50 B)48
C)82 D)78
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 44) (objection.aspx?qwr=3610169687&qwer=44)

Question No. 45

TR 99T Ted VI FIssSherd T Ry gl
A gaa B)&TeHH qdd
C)ger=ly gdd D)Stardr gdd

The famous hill-station Kodaikanal lies in-

A)Nilgiri hills B)Cardamom hills
C)Palani hills D)Javadi hills
Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 45) (objection.aspx?qwr=3610169687&qwer=45)

Question No. 46
39 W H, ) FYet F 915 A& Tt R{u v ) s A T S afed w9 § 9@ swgEd § e 1) @i
eifer Nt &1 2) FIE FreleT HUST A& &1 rrd: | FE Fsr FeheT 78 ¥l 1. FE aAfer H9sT 7EF B

A)ar @ fassy | ar 1l 9Rome B)der sy | 39ged &

C)dhaet sy || 3uged Bl D)fersehy | 3R 11 gt 39gerd g

In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically. Statements: 1) All shawls are carpets. 2) No carpet is cloth. Conclusions: I. No cloth is carpet.
Il. No shawl is cloth.

A)Either conclusion | or Il follows B)Only conclusion | follows
C)Only conclusion Il follows D)Both conclusion | and Il follow
Answer Key: D  Your Response : D (Correct) Raise Objection(Question No. 46) (objection.aspx?qwr=3610169687&qwer=46)

Question No. 47



TS T T ThET GIST AT 2 S 39 97 U 9 a1 Sar 2 S B (X),
(Y) 37 (Z) s et § fawmar 7 21 36 Eaweq &7 =41 hifor, S ki (2)
& ToAT 61 g0 =9 F agd Afd® q 2

(Z)

A/\A/\

Q (R) (S)

A piece of paper is folded and a hole is made on it as shown in figures
(X), (Y) and (Z). Choose the alternative that closely resembles the
unfolded form of figure (Z).

()

/\/\A/\
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A |P B. |Q
C R D. |S
Answer Key: C  Your Response : B (Wrong) Raise Objection(Question No. 47) (objection.aspx?qwr=3610169687&qwer=47)

Question No. 48
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A piece of paper is folded and a hole is made on it as shown in figures
(X), (Y) and (Z). Choose the alternative that closely resembles the
unfolded form of figure (Z).
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Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 48) (objection.aspx?qwr=3610169687&qwer=48)

Question No. 49

Tehad $r il o5 w9 ogg A



A)1623 B)1561
C)1761 D)1671

When was the Third Battle of Panipat fought?

A)1623 B)1561
C)1761 D)1671
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 49) (objection.aspx?qwr=3610169687&qwer=49)

Question No. 50
frfof@a &0 & M guer #r wEueigEE o R A Re e wa #1 ser &1 e waut v e
AT W ¥ AT FRIEAR # 1 9ua W f ot REfa@a € 3Fiear #: () IR F a1 FFE
vaee 7 dRedgue @ @fRul (i) FFH § FH 10 a6t 0F H@Ied F FiAG vEuS F ¥ F FH v ger @
ey RreafRcgrera/avae # F37 & F7 6 a6l ¥ Tor W@T A ARTI (i) FTH RE F FEAFA 7 Ay g7 F
9 F FH R @ TRUI (v) 1 3T 1994 Fr 40 I  FH A& A WUl I A 3FNEEAR (i) F
e 3T Wl ARTEST B QT FWar ¢ oAfder (i) F & fFr o &7 7 Ph.D. woT Hr AR FH d FA4 5 A€
F F NG ¢ A Tg AHeT B ST W HST S Wivl I FE 3FACEr (i) F remar e weft
AAGS Y G FIAT ¢, afper 7 a§ & 310 F1 ReTor 30qera § o Ig AHAT BT B AT A AT 3T
A% gat # Ph.D. § 3K Rod 10 avf & s e & 3euua & @ &) 97 30 e § FEFA F
AR gl & §9 H FA W A § AR 30H oA 26 IR, 1951 FY g3 4l
A)3FHIGAR FT ATHCT SEIFCY Pl FolelT g B)3#HIGAR T ATHAT f3TEr 383G i Holell g
C)3er e D)3Fiear I faged fham S amfge

Study the following information carefully and answer the question given below. Following are the conditions
for selecting a coordinator for a training programmer on Industrial Relations. The candidate must: (i) Be a
post-graduate in Psychology or in Personnel Management. (ii) Have worked as a Personnel Manager in an
organization for at least 10 years or been teaching in a university/an institute for at least 6 years. (jii) Have
worked as a guest speaker in similar programme. (iv) Not be less than 40 years as on 1 April 1994. In case a
candidate satisfies all the other criteria EXCEPT (ji), but has obtained a Ph.D. in one of the fields in (i) and
has at least 5 years work experience should be referred to the Deputy Director. In case a candidate satisfies
all the other criteria EXCEPT (iii), but has more than 7 years teaching experience should be referred to the
Director. Usha is a Ph.D. in Personnel Management and has been teaching in an institute for the last 10
years. She has worked as a guest speaker in a similar programme and was born on 26 August 1951.

A)The candidate has to be referred to the Director B)The candidate has to be referred to the Deputy

director
C)Data inadequate D)The candidate has to be selected
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 50) (objection.aspx?qwr=3610169687&qwer=50)

Question No. 51
Ay Famd|
A)(3, 5, 19, 13) B)(2, 31, 11, 21)



C)(11, 19, 5, 3) D)(3, 29, 2, 13)

Find the ODD one out.

A)(3, 5, 19, 13) B)(2, 31, 11, 21)

C)(11, 19, 5, 3) D)(3, 29, 2, 13)

Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 51) (objection.aspx?qwr=3610169687&qwer=51)

Question No. 52

Afaf@a 7 ¥ B T3t F gRuehy (a8-Fate) Rue-wsT a8 82
A)Feiedh B)f¥ER
C)3cak gl D)df@eraTg

Which of the following states does NOT have bicameral legislature?

A)Karnataka B)Bihar
C)Uttar Pradesh D)Tamilnadu
Answer Key:D  Your Response : A (Wrong) Raise Objection(Question No. 52) (objection.aspx?qwr=3610169687&qwer=52)

Question No. 53

TTael, IR 3R anmEe & Rgar sl 92
A)gY SERIED
C)gerehe Il D)zigeed A

Who wrote Ratnavali, Priyadarshika and Nagananda?

A)Harsha B)Ashoka
C)Pulakeshin Il D)Chandragupta Maurya
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 53) (objection.aspx?qwr=3610169687&qwer=53)

Question No. 54

Tty & ol aRpT Fr AT FiAd $.15000 §1 A Serehr FiAcT & Iopad A 3 : 51 7 §, A FoA AEA

=] #r AT FT 9aT ST
A)%.15000 B)¥.9000
C)%.21000 D)%.18000

The average price of three items of furniture is Rs.15000. If their prices are in the ratio 3 : 5: 7, find the price
of the cheapest item.

A)Rs.15000 B)Rs.9000
C)Rs.21000 D)Rs.18000
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 54) (objection.aspx?qwr=3610169687&qwer=54)

Question No. 55



& a1 ampfy & e 79 &2

How many squares are there in the given figure?

A 34 B. |36
C 38 D. (40
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 55) (objection.aspx?qwr=3610169687&qwer=55)

Question No. 56



A FA YAURRT WYURYT AT W 11% 9 af @r a7 & Faer: 3.5 a¥ 3R 4.5 af & Qv 3ux & o) afg
At et & saer i TR Fr AR T.412.50 41, O TS TR fhrae &

A)T.4250 B)%.3500

C)%.3250 D)%.3750

Two equal sums of money were lent at Simple Interest at 11% per annum for 3.5 years and 4.5 years
respectively. If the difference in interests for two periods was Rs.412.50, then each sum is:

A)Rs.4250 B)Rs.3500
C)Rs.3250 D)Rs.3750
Answer Key:D  Your Response : A (Wrong) Raise Objection(Question No. 56) (objection.aspx?qwr=3610169687&qwer=56)

Question No. 57

FafeiEa aridsr &1 e & A= R s #r3aial
et arferr 57 12 a6t § uF wo1 F 207 (A1d] §) 1 2900401 2

D EIR
2014 288 98 3.00 234 83
2015 342 112 2.52 32.5 108
2016 324 101 3.84 41.6 74
2017 336 133 3.68 36.4 88
2018 420 142 3.96 49.4 98

a9 2014 7 3T ad 2018 dd 9L [FU AT EH & 1= 9 ATa Hifo

A 15: 17 B. |17:20

C. 20: 27 D. |24:35




Study the following table and answer the question given below it.
The following table represents the number of candidates appeared and qualified
in a competitive examination from different states over the years.

Item of Expenditure

Salary | Fuel & Transport Bonus | Interest on loans | Taxes
2014 288 98 3.00 23.4 83
2015 342 112 2.52 32.5 108
2016 324 101 3.84 41.6 74
2017 336 133 3.68 36.4 83
2018 420 142 3.96 49.4 98

Find the ratio between the expenditure on salary in the year 2014 to
that in the year 2018.

A 1517 B. 1720
C. 20: 27 D. 24:35
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 57) (objection.aspx?qwr=3610169687&qwer=57)

Question No. 58
ffoaf@a el A wausiqhds 98 3R M Re v wa &1 3ar &) o dea-weh, e, s, ffd ik
Ty 7 R IR, B, s, seifaer 3R FaeR § 3R 3 FfRe, e, Has, dowar AR AT
@l §, AfheT & 18T &6 371 T IQr g1 i) Fa1 AR g FRT Yar =15 7 AT @ §, N FT ¥
F$ 3 o7 o f@amEr § 3% ar & sfeex) i) AT 3R A, 1 O FaER § AR T & AR, IR T EAEE
ygar AT F A& wWa & i) AT T o Sex & 3R a1 & AW iv) PRT F T aer ARFT T A
FereR § AR a1 & SRR v) Fh, Hreewrar 7 a8t @ar ¢ AR 3Ehar Slaex 7@ Bl vi) SR, FHeS e
Yoois H AL @l &1 vii) T FAHER AL {1 vili) FAPR, FeqEg F A€ W &1 ARAR@T F ¥ Fla R@ed
Y4
A)3ifaar B)#=iT
C)grar D)&rfet

Read the following information carefully and answer the question given below. Five friends—Mani, Anitha,
Rooba, Keerthi and Pavi are professor, sportsperson, doctor, engineer and artist by profession and live in
Kochi, Hyderabad, Mumbai, Kolkata and Chennai, but not necessarily in the same order. i) Rooba and Pavi
do not live in Kochi or Chennai, and neither of them is a sportsperson nor doctor. ii) Anitha and Mani are
neither an artist nor an engineer, and they do not live in Hyderabad or Kochi. iii) Keerthi is neither a doctor nor
a professor. iv) The person living in Kochi is neither an artist nor an engineer. v) Mani does not live in Kolkata
and Anitha is not a doctor. vi) The professor does not live in Mumbai or Chennai. vii) Pavi is not an artist. viii)
The artist does not live in Hyderabad. Who among the following is a sportsperson?



A)Anitha B)Mani
C)Pavi D)Keerthi
Answer Key: D  Your Response : Not Answered Raise Objection(Question No. 58) (objection.aspx?qwr=3610169687&qwer=58)

Question No. 59
A asH AT g 15 af ¥ AR TR 37 3 : 5: 7 F Ieud A §, o Fod SR @5F N A I )
A)15 ¥ B)9 a¥
C)21 ay¥ D)18 a¥

The average age of three boys is 15 years. If their ages are in the ratio 3 : 5 : 7, find the age of the youngest
boy.

A)15 years B)9 years
C)21 years D)18 years
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 59) (objection.aspx?qwr=3610169687&qwer=59)

Question No. 60

R F wfaue # wdfarder e weee AR g@rr Ser =T i

A)44ar B)32ar

C)42at D)34ai

The word "secular” was inserted into Constitution of India by the Amendment Act.
A)44th B)32nd

C)42nd D)34th

Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 60) (objection.aspx?qwr=3610169687&qwer=60)





